Arboga BK
Arsmote, par (hcp) 2020-02-13

Partavling, 6 bord, 12 par. Antal brickor: 22. Medel: 110.0.

Plac  Par Poéng % Namn MID Klubb
1 5 144.8 65.82  Lars Andersson - Sven Olof Svensson 4040 57590  Frovi BK
2 10 137.9 62.70  Bo Forslund - UIf Nilsson 8014 11234  Arboga BK
3 6 129.2 58.72  Allan Hagman - Magnus Persson 87038 87044  Arboga BK
4 8 114.4 52.02  Mats Hollstrom - Rigmor Stridsberg 654 9813  Arboga BK
5 2 110.0 49.99  Margareta Andreasson - Kjell Karlsson 46379 62109 Kopings BS
6 7 106.5 48.41  Mikael Rydstedt - Hakan Westberg 90657 93301  Arboga BK
7 11 105.9 48.11  Barbara Ekendahl - Thomas Ekendahl 52284 17307  Arboga BK
8 9 96.2 43.74  Gun Gyldén - Runa Persson 30596 8000 Arboga BK
9 3 95.3 43.33  Bengt-Ake Leskinen - Jan Roos 13009 9397 Smedstadens BK
10 12 93.7 42.58 Rune Karlsson - Lars Pettersson 4032 8229 Frévi BK - Arboga BK
11 1 93.4 42.44  Lars Lundgren - Erik Jirovsky 10275 2321 Arboga BK
12 4 92.7 42.14 Inge Johansson - Gisela Sjoholm 53324 53325  Arboga BK
1 Nord Ingen 2 Ost NS 3 Syd OV 4 Vast Alla
Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang
10 9 2NS+1 150 100 0.0{10 9 2¢ S+2 130 100 00| 5 1 3vV-3 300 100 00|5 1 3NO-2 200 9.0 1.0
5 7 2#S+1 110 80 20| 2 8 2¢ S+1 110 70 30|12 2 INV-2 200 80 20| 6 8 3NO-2 200 9.0 1.0
2 8 INN= 90 40 6.0| 5 7 2¢ S+1 110 70 30| 3 9 24 N+1 140 60 403 9 2¢V+1 -110 6.0 4.0
6 3 INN= 90 40 60| 6 3 3vV-2 100 40 6.0|11 10 24 N= 110 40 6.0|7 4 2NO= -120 4.0 6.0
12 1 2¢ N= 90 40 6.0| 411 3v V-1 50 1.0 90( 6 8 44 N-1 -50 1.0 9.0(12 2 2¢ V+2 -130 2.0 8.0
411 INN-2 -100 0.0 10.0(12 1 3v V-1 50 10 90(7 4 34N-1 -50 1.0 9.0|11 10 3NO+1 -630 0.0 10.0
5 Nord NS 6 Ost OV 7 Syd Alla 8 Vst Ingen
Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang
6 2 64 O-1 50 90 10| 111 3#V-1 100 90 10|12 4 44 V-1 100 100 0.0| 511 24 N+1 110 9.0 1.0
12 3 64 0O-1 50 90 10| 7 9 INV-1 100 90 10| 2 1 4eV= -620 4.0 6.0|12 4 24 S= 110 9.0 1.0
111 44 0+1 -450 30 70| 410 2vS-1 50 6.0 40| 511 44 V= -620 4.0 6.0| 810 2¢» O-2 100 6.0 4.0
410 44 O+1 -450 3.0 70| 6 2 INV= 90 20 80| 7 3 4e V= 620 4.0 6.0| 9 6 Pass 40 6.0
7 9 44 0O0+1 450 3.0 70| 8 5 INV= 90 20 8.0| 810 44 V= 620 4.0 6.0|2 1 2vS-1 -50 1.0 9.0
8 5 44 0+1 -450 3.0 7.0(12 3 INV= 90 20 80| 9 6 4e V= 620 4.0 6.0| 7 3 24S-1 -50 1.0 9.0
9 Nord OV 10 Ost Alla 11 Syd Ingen 12 Vast NS
Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang
6 1 3NN+1 430 100 00| 6 1 6vyN= 1430 100 0.0|10 1 44DV-3 500 100 0010 1 3vS= 140 10.0 0.0
3 2 3NS= 400 70 30| 8 4 4¢vN+3 710 80 20| 7 2 44 V-3 150 70 30| 7 2 4¢ V= -130 6.0 4.0
10 7 3NS= 400 70 30| 3 2 4vN= 620 50 50|11 8 44 V-3 150 70 30| 9 5 4e V= -130 6.0 4.0
8 4 1a N+1 110 40 6.0|12 5 4vy N= 620 50 50| 4 3 4eV-1 50 40 6.0|12 6 4¢ V= -130 6.0 4.0
12 5 3NN-1 -50 2.0 8.0| 911 3v¥ N= 140 20 80|12 6 5vS-2 -100 20 80| 4 3 4¢V+1l -150 20 8.0
911 24 N-2 -100 0.0 10.0|10 7 6% N-2 -200 0.0100|9 5 24V+1 -140 0.0 10011 8 3NS-5 -500 0.0 10.0
13 Nord Alla 14 Ost Ingen 15 Syd NS 16 Vast OV
Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang
1 9 2¢9N+3 200 100 00| 1 9 34V-3 150 100 00| 6 5 4vO-2 100 80 20| 1 3 4vN= 420 100 0.0
11 2 2¢v N+2 170 80 20| 8 3 3aV-1 50 80 20| 9 4 4v V-2 100 8.0 20|12 8 2vy N+2 170 8.0 20
5 4 3y N= 140 40 6.0/10 6 2vS-1 50 6.0 40|11 7 4v V-2 100 80 20| 6 5 3vyN= 140 6.0 4.0
8 3 3vN= 140 40 60| 5 4 24 V= -110 4.0 6.0| 210 4v V-1 50 30 70|11 7 2¢ S+2 130 40 6.0
12 7 3y N= 140 40 6.0|11 2 34 O= -140 2.0 8.0(12 8 4v V-1 50 30 70| 210 4vN-1 -50 1.0 9.0
10 6 4y N-2 -200 0.0 10.0)12 7 2NO+1 -150 0.0 100| 1 3 4v V= -420 0.0 100| 9 4 34 S-1 -50 1.0 9.0
17 Nord Ingen 18 Ost NS 19 Syd OV 20 Vast Alla
Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang
311 6NDV-2 300 10.0 0.0| 7 6 5¢DO-4 800 100 00| 8 7 44 S+2 480 100 0.0| 2 9 Pass 10.0 0.0
7 6 6NO-3 150 80 20| 2 4 3#S= 110 80 20| 2 9 44 N+1 450 40 6.0|1210 2¢ O+1 -110 80 20
12 9 29 O+1 -140 6.0 40|10 5 2&S= 90 6.0 40| 3 5 44 N+1 450 40 60| 4 1 3¢ O+1 -130 4.0 6.0
2 4 3NV= -400 40 6.0 1 8 3NN-1 -100 3.0 70| 4 1 44 S+1 450 40 60| 8 7 2¢ O+2 -130 4.0 6.0
10 5 3BNO+1 -430 2.0 8.0|12 9 3NN-1 -100 3.0 70|11 6 44 S+1 450 40 60|11 6 2¢ O+2 -130 4.0 6.0
1 8 3NO+2 -460 0.0 100| 311 3#S-2 -200 0.0 10.0 |12 10 44 S+1 450 40 6.0/ 3 5 INO+2 -150 0.0 10.0
21 Nord NS 22 Ost OV
Par  Kontr Res Poéng Par  Kontr Res Poéng
1 7 24V+1l -140 100 00(1 7 3¢ O+1 -130 80 2.0
5 2 340+ -170 70 305 2 3«V+l -130 80 20
9 8 34V+1 -170 7.0 309 8 3#V+l -130 80 20
310 44 0= -420 3.0 7.0| 310 3NV= -600 3.0 7.0
4 6 44 O= 420 3.0 70| 4 6 3NV= -600 3.0 7.0
12 11 44DV= -590 0.0 10.0|12 11 3NV+1 -630 0.0 10.0
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